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QUESTION 1

What is the duration of SQB by default? 

A. 3 seconds 

B. 6 seconds 

C. 2 seconds 

D. 10 seconds 

Correct Answer: C 

 

QUESTION 2

To how many resource groups can a user be assigned? 

A. four 

B. unlimited 

C. three 

D. one 

Correct Answer: C 

 

QUESTION 3

What happens to NFS mounts after a container failover? 

A. NFS is handled by Red Hat OpenShift and does not need to be mounted. 

B. Sysmgr will remount it as part of the IBM Netezza Performance Server environment 

C. A containers do not allow for NFS mounts. 

D. It will be automatically mounted by the ipsnfs service. 

Correct Answer: A 

 

QUESTION 4

Which two commands are used to list all hardware and software components on Cloud Pak for Data System? 

A. ap hw 

B. nzsw 
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C. nzhv 

D. ap sw 

E. oc pod -h -s 

Correct Answer: AD 

 

QUESTION 5

What is the maximum length of a CHAR/VARCHAR column? 

A. 65.535 

B. 32.000 

C. 64,000 

D. 16.000 

Correct Answer: A 
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